30-16

49
49
6 ( )
H18:1,280 H19:1,291 H20:1,187
8 H18:9 H19:41 H20:55
() H1848381 H19:47,655 H20:49,081
131,940,652 8,000,000 6.1% 99,354,800 (753 )
10,000,000 (76 )
20
H17 H18 H19 H20
1 1 1 1
\ 0 0 0 0
10 10 10 10
\ 2 2 1 1
6 6 6 6
\ 1 1 1 1
0 0 0 0
7 7 7 7
10 10 10 10
1 1 1 1
65 2,940 53 2,924
20 19
(A) 123512 (121,314) 42193  (41,078)
(B) 132,421 (145,166) 29396  (28,716)
(A)-(B) 8,909 ( 23852) 12,797  (12,362)
5501 ( 23852) 0 0)
60.4 (38.9) 723 (705) 0 0)
958 (83.6) 4869  (392.0) 0 0)
180 (17.4) 830  (94.7) 3,500 0)
16.2 (15.4) 654  (73.0) 0 0)
18 3.1) 191  (208) 0 0
58.6 (59.1)
( 12,797 (12,362)




(A) 117,639 121,314 123512

49,568 48,876 50,326

66,946 71,665 72,361

25,817 30,587 30,169

41,129 41,078 42,192

(B) 162,368 145,166 132,421

129,605 122,464 110,970

46,683 56,538 79,930

8,835 10,491 11,179

33,263 22,321 21,451

13,252 14,802 12,710

(C)=(A)-(B) 45,229 23,852 8,909

(D) 25,413 3,408
(E) 341

(F)=(D)-(E) 25,072 0 3,408

(G)=(C)+(F) 20,157 23,852 5,501

(H) 301,131 280,974 257,482

(1N=(G)+(H) 280,974 257,122 251,981

J) 0 0 0

(K) 0 0 20,157

(L)=(3)+(K) 0 0 20,157

(M)=(G)+(J) 20,157 23,852 5,501

(N) 301,131 280,974 257,482

(0)=(M)+(N) 280,974 257,122 251,981

18 19 20

106,823 121,278 139,291

18,380 36,775 59,031

288,076 243,840 209,140

131,941 131,941 131,941

102,470 102,470 112,800

156,135 111,899 209,140

394,899 365,118 348,431

29,949 30,941 28,609

29,398 29,399 27,901

83,976 76,748 67,841

83,676 75,775 66,501

300 973 1,341

113,925 107,689 96,450

280,974 257,429 251,981

131,941 131,941 131,941

280,974 257,429 251,981

394,899 365,118 348,431




